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Chapter 1 Honors Practice Test

Simplify each expression.
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Solve-each-equation. Check your answer.
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Solve each inequality. Check your solution. P —
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Define @variable and write an equation to model each situation. Then solve.

23. The scale of a map is 1 cm: 35 mi. Determine the distance between two cities
that are 4.2 cm apart on the map.
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24, A box of cereal should have a mass of 495 g. The quality control inspector

measures the mass of every fiftieth box. The inspector rejects any box that is not

within 10 g of the ideal mass. Find the range of acceptab e masses. Write and solve

an absolute value inequality for this situation -
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